6x 2=__ Lbx 5=___ 2x 6= ____
8x 9= __ 3x 7=__ Lx 8=
2L + 2= __ 32 + b= __ 45 + 5= __
Find half of these rumbers
20= 8=____ 2=____
28=_____ bt = 68=__
2=___ 4= __ 200=
3625+ 2837 =
q274 - 2836 =

Quick Start
8x 2=____ /7x 5=____ 8x 6=_____
8x 0= ____ 3x 3=____ bx 6=___
16 + 2= __ 28 + b= 72 + 8= ____
Find half of these numbers
0= __ b=__ 6= ___
22=___ 6L = __ 82=____
12=__ 2L = 400 =
3625+ 2837 =

9274 - 2836 =




7Tx 2=____ 9x 5=__ 6x 6=___
8x 7=___ Nx 3=___ bx 8=___
I5+3=___ 64 + 8= __ L2 + 6= ___
Find half of these numhbers
2=___ 6=__ 18=____
60=__ L8 = __ 62=__
30=___ 50=__ 20=
4723 + 1937 =
7361 - 4827 =

Quick Start
bx 2=____ 2x 5= ____ Ax 6=___
8x b= ____ 7x 3=___ 8x 8=___
27 + 3= ___ L8 + 8= __ 54 + 6= _____
Find half of these numbers
8=__ 6 = 24 =
Lb2=__ 86=__ 02=____
54 =__ 70=__ 6= __
6545 + 2456 =

6432 - 2458 =




9x 2= ____ Sx 5=__ 7 x 6=
6x b=__ 3x 3=____ /7 x 8=
27 + 3=___ a6 + 8= ____ 30 + 6 =
Find half of these numhbers

6=__ b =_ 28=___
68=___ 38=___ 8= __
600=__ 76 = ___ Shi=__
8534 + 698 =

7368 - 835 =




